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Third Semester B.Com. Degree Examination, October 2019
Career related First Degree Programme under CBCSS
2{(a} - Commerce and Tax Procedure and Practice

Vocational Course IV : CX 1372
INCOME TAX LAW AND ACCOUNTS - i
{2013 to 2017 Admn.)
Time : 3 Hours tax. Marks | 80
SECTION - A

Answer all guestions in one word to maximum two sentences. Each question carrieg
1 Mark.

1. Whatis STCA?

2. What is the exemption iimif for gift?

3. Whois a deemed assessee?

4 What do you mean by Ciubbing of Income?
5. Whatis Intra head set off?

6. Explain Indexed cost of Acquisttion.

7. Give two examples of Casual Income.

P.T.O.




10.

State the quatifying fimit of section 80 C.
What do you mean by TDS?
How deduction is allowed under {ncome Tax Act in case of a person with

disability?
(10 x 4 = 10 Marks)

SECTION - B
Answer any eight questions not exceeding one paragraph. Each guestion Carries
2 Marks.
.ﬂ. What is fransfer for the purpose Capital Gain? -
12. What do you mean by Bond washing transaction?
13. What is aggregation of Income?
14. How deduction is allowed for donation under section 80G?
15. Difierentiate foreign company and domestic company.
16. Explain how cost of bonus share is determined.
17. What s Grossing up of interest?
18. How will you set off |
(@) STCL and
(b) LTCL
16, State the circumstances in which the Income of the wife of an assessee is
included i his Total Income?
20. What do you mean by ex-interest securities”?
21 What do ycu mean by Capital Asset?
22, Explain the order of set off.

{8 x 2 = 16 Marks)
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SECTION - C

Answer any six questions not exceeding 120 words. Each question carries 4 marks.

23.

24.

25.

X and Y started a jewellary shop with effect from 1.4.2013. X contributed a his
capital Rs. 5,00,000 in cash while Y contributed as capital, jewellary purchased
by him in June 2010 at a cost of Rs. 2,00,000. The fair market value of the gold
on 1.4.2013 was 4,00,000. However it was agreed to credit the capital account of
Y with 3,00,000 for his contribution in December 2017, the entire jewellary was
sold for Rs. 8,00,000. Find cut the taxable income of the partners and the firm for
the year 2017-2018. Cl: 2009-10: 148, 2017-18:272.

Which are the interest Income exempt under section 10(15)?

The following information related to the Income of Mr. Nikhil duriné the year
2018-19.

(1) Agricultural income from Nicobar island : 50,000

(2) Amount received from sub- letting half of his rented residential house 10000
(Municipal tax paid for the house Rs. 2,000)

(3) Dividend from Indian Company engaged in agricultural activities  11,40,000 ’

(4) Dividend from Indian Company engaged in non-agricultural activities 60,000

(5) Divided from foreign company ' 2,00,000

(6) Income from consultancy service 1,00,000
(7) Income from a stone quarry in Maharashtra 1,50,000

(expense in connection with stone extraction 1,10,000)
(8) Agricultural income from USA 1,00,000 .

Compute taxable income under the head ‘tncome from Other Source’ for the year
ended 31% March 2019,
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29.

30.

31.

What are the situations where ciubbing 9f iIncome is done?
Explain the provision related to deduction under section 80D.

Mr. Z submits the foliowing mformation

P.Y 2017-18 2018-19
L.oss from self cccupied house 60,000 45000
Loss from Business 90.000
Profit from business 30,000
Income from salary (Computed) 65,060 1,23,000

Explain how the josses can be set off
What are the cbjectives of Taxation?

Mr. X gives the following particulars for the FY 2018-19. Compute taxabie income
of Mr. X

- Income from professicn of Mr. X 10,00,000

- Salary Income of Ms. Y, wife of Mr. X 8,0¢,000

- income of A (Minar Daughter) from different chess tournaments 40,000
- Lottery winning from B (Mincr Daughter) 50,000

- Income from house property (Owned by C, minor daughter) 60,000

- Interest n Bank deposit of D{ Minor son) 40,000

interest on debentures of £ (Major Son) 50,000

Explain the Computation of Capital gain in special cases.
(6 x 4 = 24 Marks)
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SECTION - [

Answer any two questions not exceeding 4 pages. Each question carries 15 Marks.

.
32,

33.

34,

Mr Tom john s a central govl employee in an small town where poputation is
less than 10 lakh. s monthly salary during the financial year 2018-19 is as
follows. ' '
- Basic pay 20,000 p.m
- Dearness pay 6,000 p.m
- Dearness allowance 30% of his salary
He contributes 10% of his salary tc PF
- Interest credited to his balance in the PF @8.5% p.a 16,000
- Entertainment ailowances 500 p.im
- License fee for the accommodation as per records 1,500 p.m
- He receive dividend frcm a co-operative society 8,000

He donated 10,000 during the year {0 the National liiness Assistant Fund

- He sold a building for 10,00,000 which was purchased in 1998 for 3,00,000

Fair market value on 1.4 200, Rs. 500,000 CIH:2018-19 272. Compute taxable
Income assuming that he has paid 2,500 tax on employment during the year
2018-19.

Explain the Deductions under section 80C to 80U,

The following Incomes where received by Mr. Arun during the year 2018-19.

- Honorarium received for writing articles in magazines 10,000
- Income from agriculture abroad 25,000
- Ground rent from land in india 50,000
- Interest from P.O.S.B alc 3,500
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- Interest on deposit with Industnal Finance Corporation 2.500
- Dividend from a foreign company 35,000
- Rent from letting if building along with plant 20,000

(Repairs to the above said plant Rs. 1,000)

- Winnings from horse race 20,000

- Interest on 1,20,000 ,10% tax free debentures of a listed co. in India
Calculate Income from other source of Mr. Arun for the previcus yr 2018-19.

Explain the deductions applicable for Capital gain. .
{2 x 15 = 30 Marks)
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Thlrd Semester B Com Degree Examlnatlon October 2019
_': Career Related First Degree Programme Under CBCSS
-2_(a)_ COMMERCE AND TAX PROCEDURE AND PRACTICE
. | Vocatlonal Course n: cx 13711 :

INCOME TA)( LAW AND ACCOUNTS - I
(2013 2017» Admn)
TlmeSHours o .
SEGTION-A
Answer all questlons |n one word to maxlmum two senten.oes each Each questron
- carries 1 mark ' v - '

m1 -_ | What is Assessment year’? -
o 2 What is CllT'?

3 -_ Whors a deeme_d- asses.seje?\ B
4 | Deﬁ"e casual income. .

6. What you mean by taxable iheomefg- L

e -Ma)r._.Mar'ks':.SOf s

T PTO.



10;

. Answerwelghtquestrons in one paragraphEach question cameszmarks o
e
| 13,
. 14;’
.

©1e.

left lndra on 3"j June 2016 He came back to India on 5th April, 2017 Determine .~
. his. resrdentlal status for the assessment year 2017—18 assummg that he di d not'
'_-._go out of lndta prevrously | e | T

" Give two examples _-of income d__e‘.eméd -'to._be-r_eoeived_' in 'India'?" o

_ ‘What is Standard rent?_f

 Explain Sweat Equity Shares.

| Explaln _s_;jé.ciﬁe‘_'d;emprayée. |

-'Exp_lain'the\"-:tg; treatrnent_ of COn'rposite (ent. S
. What you 'meanfby_ tax planmng? L | RS o
'company His average salary for 10 months precedlng September 2016 is .

_ Rs. 50 000 per month He recewes a gratunty of Rs 12 DO 000 Compute hIS""-A -
SRR 'taxable graturty‘? B . s o

TP

R T

 Define the term Block of Asset.. ~ oo R

What is the raté of .depreoiatiorr.:oﬁ inta nglble asset? -

. SECTION-B

oy

Mr. Prarrlod 'retires' in 'September 2016’aﬂef h"aving put i 42 years'tjf' serviceina
Mr Praneeth was sponsored by hrs employer for some tralmng |n Canada He




18,
- 19.
20.

| :the prewous year he got his" three-fourth pens:on commuted and reoewed_ S

-Explain: unabsorb‘ed dep ';,éda; ﬂ'o_n, e

When 'does a :cornpan”y become r;esident?_ .

Mr X is gettlng a pensron of Rs 4, 000 per month from a pnvate company Dunng

- '_"'Rs 3, 60 000 Compute the exempted amount assummg that he also recelved

2

gratu lty

-Explam the treatment of over-valued and under-valt.ted stock m oomputmg :

_ Income from busmess

How will you tfeat.arrear rentreceived? |
(8x2=16Marks) -

| "secrl_oN?.-'_.c* e

Answer any six questrons in about 120 words each Each questton cames 4 marks

"‘123

- "... 25'

R COmpany for Rs 1 30 000 Car was purchased by the company on 30 06 2013-' R

- 'for Rs 2 ,60 000 Flnd out value of perqwsrte

What is- drfference between exempt:on and deductron’?

L_ist jth_e ca$ee_where renta't in___c_ome fr_o_r'n 'prope[ty t;s_-_ntit ;Charged._fq't_ag_' o

Whatyou m'ean by tax free p'erqu.isi:tes?l-_Giue _ekémbles. o

Mr. X, a dlrector of a company purohased a car on 1 7. 2016 from hls empioyer'




27,

28.

“Profit and loss account of MIS TB traders shows a net profit of Rs.1 00,000 after

debiting the amount withdrawn for personal eXpenses Rs.10,000. Life Insurance

~ Premium Rs.15,000. Income-tax RS. 22 ,000, expenses relating to income tax

proceedlng Rs.15,000 and municipal tax relating to the self occupied property

Rs.1,400. Compute his taxab!e income under the head Prof t from Busmess

Mr. Ramesh is employe'd as a clerk in a 'MiII since 1st September 2002 He is

- getting Rs. 16,000 p.m. as salary and Rs. 4,000 p.m. as D.A. since 1.4. 2015. His

29.

30.

31
. employee't>

~-service were terminated on account of retrenchment of employees on 1.7.2016
~ and he was pald Rs. 2,00,000 as compensatren Compute his exempted amount
of compensatlon for the assessment year 2017- 18

Mr. K is Karta of HUF: He went outside India on 1st May 2016. He came back on
10th February 2017. In his absence the business of the family was eon_tro_lle_d by
his brother. The family has business:in Ihdia as well as in Sri Lanka. Determine

 the residential status of the HUF for the assessment year 2017-18. -

- Compute taXabIe income from house property from the following paftict:lers:- N

Fair Market Value 78,000 - -
Actualrent ~ :70,000

Muncipal valuation ~ : 50,000

Standardrent . : 60,000
'M_Uncipal taxes. - - 20%
. 'Interest pad - 18,000

Who is a specnfled emptoyee’? What are the perks taxable for specmed

(6 x 4 =24 Marks)
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 SECTION - D

Answer any two question not exceeding 4 pages. Each question carries 15 marks.

32. Mr Abhi owns two houses The partlculars of the two houses for the previous

33.

34.

year 2016-17 are given below:
Particulars

House_l ‘House I

Date of comptetion of construction ~ 31.03.2012 31.12.2013

Use of house
Municipal value |
Fair rent

Rent received
‘Standard Rent -
Municipal tax paid
Interest on loan .

Self occupied Let out
| 30,000 60,000
35,000 = 90,000

- 1,20,000
25000 65,000
4,000 8,000

30,000 40,000

Compute income from house property for the AY. 2017- 18

Mr. Chandran an employee in a company, is a drawmg Rs. 9,000 p.m. as salary

plus 10% of his salary as dearness pay. He is getting enterfainment allowance of

Rs. 1,000 p.m. He has spent Rs. 5000 on entertainment of the company's
customers. He is provided with a rent free unfurnished house at Allahabad of the

fair rental value of Rs. 2,000 p.m. The house is owned by the Company. He is
also provided with a small car for his personal and official use and-all the

expenses of its maintenance and running are met by the company Find out his
taxable salary for the assessment year 2017-18.

From the following partlculars compute the Busmess income of Mr. X

Particulars - Amount Particulars - “Amount

. | Rs. - - Rs.
Salaries 90,000 Gross proﬁt_ 3,50,000
Rent - 20,000 Dividend = | 4,000

Service charges

Legal exp’enses '
Reserve for income tax
Depreciation -
Expenses for acquisition

. of Patent

4,000 Bad debts recovered - 4,400
5,000 (allowed earlier)

- 6,000 Interest on Post office 8B = 1,200 |

12,000
56,000
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{(Pages : 3) H - 1573.

Third Semester B.Com. Degree Examination, October 2019

Fi:;St Degree Programme Under CBCSS
'Co’mple'mentary Course li |
E - BUSINESS
~ (Common for CO 1331/CC 1331/HM 1331/CX 1331)

(2018 Admn.)

Time : 3 Hours Max. Marks : 80

SECTION - A
An_swer'all questions, in one word to two sentences. Each question carries 1 mark.

1. Write a short note dn e-tailing.

2. List out the names of three e-payment method. |
3. Differentiate E-commerce and E-business.

4. Define WWW. |

5. Define an e-citizen.

6. Write a note on Electronic fund transfer.

7. Name two popular internet browser.

8.  What do you mean by digital delivery of products?

P.T.O.




9

10.

Write the name of any two e-commerce sites in India.

Write a short note on internet marketing.

'(10 x 1 = 10 Marks)
SECTION - B |

Answer any eight questions, not exceeding one paragraph. Each question carries
2 marks. -

11.
12.
- 130
14.
15.
16.
17.
18.
19.
20.
21.
22

Explain the term ‘e-marketing’.

-What is e-learning?

Describe the term B2B.

Explain the uses of ICT.

List out any two possible drawbacks of E-Commerce.

What role does SCM play in Business to Business model e-commércé’?
Write a short note on e-governance.

What are the features of E-commerce?

Explain the advantages to society because of e-commerce?

Explain e-auction. | |

How is email useful for e-commerce?

What is Electronic Fiting?

- B (8 x 2 = 16 Marks)
SECTION-C

Answer any six questions, not exceeding 120 words. Each questions carries 4 marks.

23.

24.

What are the advantages of E-commerce?

What are the different types of E-market place?

2 ' : H-1573



25.
26,

- 27.

28.
29.

30.

31.

“CRM helpe to improve the business relationship with customers’”. Comment.
Write about different advertisement strategies -online.

Discuss in detail abdut the securlty issues - connected to electronlc cash
transferred over internet? : :

Compare and contrast the traditional business and e business in a book business
Exptain different steps in creating an ecommerce web site.

Write in detail how tourism industry can gain advantage using ecommerce
websites?

Write note on the any of the successful Kerala e-governance initiative.
(6 x 4 = 24 Marks)

SECTION - D

- Answer any two questions, not exceeding four 'pages. Each questions carries
15 marks.

32.

33,
34,

35.

What is ERP? Explam and illustrate the advantages of ERP system with the help
of an example.

What are the major e-business models?
Explain any four applications of e-commerce’in detail.

What do you mean by E-governance'? Explaln various types of E governance
Model.

(2 x 15 = 30 Marks)
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Third Semeéter B.Com Degree Examination, October 2019
First Degree Programine under CBCSS
Complementary Course: Co 1331/CX 1331
INFORMATION TECHNOLOGY IN BUSINESS
(Common for Commerce/commerce & Tax P_rOCedure and Practice)

(2014 to 2017 Admission)

Time : 3 Hours . ' Max. Marks : 80

SECTION-A

Answer all the questions in one word or to a maximum of two sentences each. Each
question carries 1 mark.

1. Whatis RAM?

2.  What is systems software?
3. What is a star Network?

4. What do mean by mternet‘?
5. Whatis web protocol?

6. Who is a Domain Name?
7. What is networking?

P.T.0.




8.

0.

What is www?

What is EFT?

10. What is Linux?

SECTION - B
Ahswer any eight. questions in nbt exceeding one paragraph
2 marks.
11. Whatis Applicatidn software?
12. What ére the types of.Networking.? _
13. What ié a _s_earch engine? |
14. What is an IP address?.
15. Whatis HTTF’?
16. What |s telnet?
_1 _7": Explain Intranet.
18. What are the advantages on using e—bar}king?
19. Whatis s’marf card?
20. Whatis sy_sterh software?
21. What is e-gbvemance?
22. Whatis GZC e-Governance?

{10 x 1 = 10 Marks)

. Each question carries -

(8 x 2 = 16 Marks)
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SECTION-C

Answer Iény six quesﬁons in about 120 words each. Each question carries 4 marks.
~ 23. Explain the functions of an operating system.
- 24. Diétinguish between LAN and WAN.
25. Why e-mail is ifnportant?
26. Whatis FTP?
27. ‘Firewall a'ct_s as a gatekeeper’ cofnment.-
28. What is National Electronic Funds Transfer?
29. Explain e-business
30. Explain_the types of soﬂWare.
31. Explain fhe beneﬁté of e-Governanée.

| (6x4=24 Mafks)

SECTION - D |

Answer any two questions in not exceeding 4 pages each. Each question carries
15 marks. | o |

32. Discuss the evolution of modern computeré.

33. Explain digital payment systems.

34. Explain the advantages of internet.

35. Enu_merate th.e features of E~G6Vernance in India.

-(2 x 15 = 30 Marks)
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Third Semester B.Com. Degree Examination, October 2019

Career Related First Degree Programme Under CBCSS
Core Course Il : CX 1341/HM 1341/TT 1341
FUNCTIONAL APPLICATIONS OF MANAGEMENT

{Common for Commerce and Tax Procedure and Practice/ Commerce and
Hotel management and Catering/Commerce and Tourism and .
: Travel management) '

(2014 to 2017 Admission)

Time : 3 Hours : Max. Marks : 80
SECTION — A
Answer all questions in one or two sentences each. Each gquestion carries 1 mark.

Explain the contributions of Henry Fayol.
What is job design?
Distinguish between consumer marketing and industrial marketing.
Define marketing strategy.
- Define recruitment.
List out the functions of management.
What do you mean financial management?
What is working capital? '
What is mean by material management?
What is scheduling?

© @ NdDOA DN~

—
©

(10 x 1 = 10 Marks)

P.T.O.



SECTION - B

Answer any eight questions in not exceeding one paragraph each. Each question
~ carries 2 marks. ‘

11. Define management and functions of mangers.
12. Discuss in detail the selection process.
13. Whatis meant by scientific .mahag_ement?
14, What is Q_C?
15. Give the mearﬁng of safety.
16. Wri;te a short note of sources of finance. |
17. 'What.is e-marketing?
18. What is product line?
19.. What do you mean by Integrated Marketing'Cbmmunications (IMC).
| 20. What is branding?
| 21. What is operation management?
22. _Write a ndté on working capital cycle.

(8 x 2 = 16 Marks)

SECTION-C

Answer any six questions in not exceeding 120 words each. Each question carries
4 marks. ' '

23. Write a note on advertising cha!!enges in globalization era. .

24. Describe various types of Organizational Communication.

2 - | H-1670



- '25._'
26.
27.
28.
29,
- 30.

31.

Determiné the factors that influence a pricing decision.

What are the stéps involved in the new product development?
Why quality of work life is important?

State the objective of échedu!ing.

Briefly explain the Masiow’s need hierarchy theory.

What are the main fﬁnctions a_nd scopes of production p_lanning?
What are the duties p_erformed by purchasing department?

(6 x4 = 24 Marks)

SECTION - D

Answer any two questions in not exceeding 4 pages each. Each question carries
15 marks.

32.

33.

34.

35.

Explain the three leadership styles.

Describe the difference method of performance appraisal.

What is pro'motion?'Explain its types and different types of promotional
techniques. : . .

What are the future Challenges before managers?

(2 x 15 = 30 Marks)
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Third Semester B.Com. Degree Examination, January 2019
Career Related First Degree Programme Under CBCSS
2(a) : Commerce and Tax Procedure and Practice
Vocational Course Il
CX 1371 : INCOME TAX LAW AND ACCOUNTS -1
(2013 Admn. Onwards)

Time : 3 Hours : Max. Marks : 80

SECTION - A

Answer all in one word to maximum two sentences. Each question carries 1 mark.

1

2.

10.

. When did the present Income Tax Act come into force ?

HOw a partnership firm becornes a non resident in India ?

. Mention the status of Kerala University and Reserve Bank of India under the
Income Tax Act in India.

Who is called an assessee in default ?

State the meaning of Income accrues or arise under the Income Tax Act.

- What is standard Rent ? |
. What is salary for the purpose of HRA 2

. What is the rate of standard deduction for expenses under the head income

from house property 7. -

. State the rate of depreciation for income tax on fumiture.

Define a speculative transaction. | (10x1=10 Marks)

P.T.0.
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SECTION - B

Answer any 8 questions in one paragraph. Each question carries 2 marks.

11,
12.

13.

State the meaning and scope of perquisites in income tax.

Mr. Raj joined his first job on 15" July 2017 at a monthly salary of Rs. 30,000.
- Compute his salary for the previous year 2017-18 if his salary for March falis
due on 31* March.

How the refund of unrecognized provident fund on retirement of an empioyee

 is treated for income tax ?

14,
15.
16.

17.

18.
19.
20.
21,
22,

How the perquisite of residential accommodation is valued in the case of a
government employee ?

How the children education allowance is treated in Income tax ?

Mention any two specified professions as per provisions for maintenance of
boaoks of accounts.

Madhu self occupied house during the previous year 2017- 18 having a municipal
valuation of Rs. 80,000. He paid municipal tax Rs. 1,000 during the year. Show
the computation of the net annual value of the house with remarks.

Brief the conéépts of Municipal value and Fair Rent of the propenty.

Wha is a representative assessee ?

Categorise allowances on the basis of their income tax treatment.

W_hat are the allowable deductions from the annual value of a house property ?

How an individual would qualify as resident of India for income tax ?
(8x2=16 Marks)

SECTION-C

‘Answer any six questions in not exceeding 120 words. Each question carries 4 marks.

23. Detail any four categories of expenses under Section 43B of Income Tax Act

that are allowed as deduction only on payment basis in computing business

o mcome

24. State the taxability of the perquisites :

~ a) Aloan of Rs. 16,000 @ 11% p.a. for purchase of a scooter.

b) Aloan of Rs. 40,000@ 10% for the cancer treatment of employee’s wife .




HH B A " F-mze

25. Mr. Jakson an American citizen was appointed a research officer in India on
15 April 2006. On 1= February 2015 he went to Germany on deputation for a
. period of 3 years, but left his wife and children in India. On 1stMay 2016 he
came to India and took with him his family to Germany on 1% July 2016. He =
returned to India and joined his original job on 2™ February 2018. Determine
the residential status of Jakson for the assessment year 2018-2019.

26. As per salary contract between an employee and his employer the salary of

the employee was to be increased by Rs.100 p.m. from the 1-4-2015 but the

~ .. employer did not do so and subsequently the employer agreed to enhance the

- salary of the employee as per the agreement and paid all the arrears with the

salary of September 2017. Show the treatment of arrear salary in the assessment
year 2018-19.

27. Mr. Raj is a government employee. During 2017-18 he got : basic salary
Rs. 20,000 p.m., dearness allowance of 50% on basic salary and entertainment
allowance Rs. 500 p.m. from which he did not spent any amount for official
purpose. Calculate the amount deductible in respect of entertainment aillowance
u/s16(ii).

28. Fihd out the value of perquisite of car provided to the employee and owned by
¢ the employer in the cases

a) A large car all expenses bome by the employer during the previous year
are Rs. 40,000. Cost of car Rs 6,00,000. The car is solely used for private
purposes of employee.

- b) Small car meant for both private and official uses. All expenses borne by
the employer. Driver is also provided free of charge.

29. Mr. Sam is appointed at Mumbai. He stayed in a hotel for 30 days and thereafter
shifted to a house provided by the employer, determine the taxable value of
perquisite in respect of the stay in hotel when the room rent in hotel is Rs. 1,000

-7 per day and salary for the valuation of accommodation during previous year

. 2017-18 is Rs. 4,50,000.

30. Compute depreciation allowable to Ram and Co., a Chartered accountants firm
for the assessment year 2018-19 in respect of office building. WDV of building
on 1-4-17 Rs. 5,00,000. Rate of depreciation 10%.The firm sold its oid office
building for Rs.15,00,000 and purchased new office building for Rs 40,00,000
in December 2017.

31. State the meaning and taxability of commuted value of pension.  (6x4=24 Marks)




SECTION — D |

Answer any two questions in not exceeding four pages. Each quesiion carries
15 marks. '

32. Explain in detail the provisions of income tax law to claim of expenditures on
Scientific research u/s 35.

33. Following are the particulars of taxable incomes Aditya for the previous
- year 2017-18. Compute his gross total income if he is (a) ordinarily resident -
(b) not ordinarily resident and (c) non resident.
a) Salary received in Mumbai for service rendered in London Rs. 40,000.
b) Pension received Rs. 30,000 in London for service rendered in Delhi.

¢) Income from business earned in London Rs. 40,000 of which 15,000 were
received in Mumbai. The business is controiied from India.

d) Income from house property in Canada received there Rs. 20,000.
e) Profit from business in Sri Lanka, deposited in a bank there Rs. 10,000.

34. The following particulars relate to the income (Rs.) of Mr. Manoj working in
Bangalore for the previous year 2017-18. :

Basic salary 2,00,000, Dearness pay 50,000, House rent allowance 25,000,
Bonus 2,000, Employers contribution to RPF 40,000, Salary of cook paid by
employer 15,000, Leave encashment 10,000 and Medical allowance 20,000 and

- Conveyance allowance 14,000. Manoj paid Rs. 3,000 p.m. for house rent; met
conveyance expenses 5,000 during the year. He paid employment tax 5,000.
Compute his taxable salary.

35. Mr. Raghu is the owner of a house at Chennai, particulars in respect of which

»+. forthe year ended 31-3-2018 are as follows : (Amount Rs.) Actual rent received
55,000 (include water charges 5,000), Municipal Valuation 42,000. Municipal tax
paid 6,000, Municipal tax outstanding 2,000, Interest on loan taken for renewing
the house 12,000. Unrealised rent alfowed in the AY 2014-15 recovered the
current year 6,000.
Compute income from house property for AY 2018-19. (2x15=30 Marks)
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Third Semester B.Com. Degree Examination, October 2019
Career Related First Degree Programme Under CBCSS
Group 2(a) — Commerce and Tax Procedure and Practice

| Vocational Course ill
CX 1371 : INCOME TAX LAW AND PRACTICE ||
| (2018 Admission)

Time : 3 Hours ' Max. Marks : 80
SECTION - A
Answer all questions in one or two sentences each. Each question carries 1 mark.

1. | What do you mean by fax? :

What is vocation?

What do you mean by perquisite?

What do you mean by previous year?

What is gross total income?

What are the deductions allowed on business premiées u/s 30 ?
‘What is CIubbing of income?

What do you mean by Cess?

© o N o g kW N

What is the rule for treating a capital gain as short term?

10. What do you mean by inter head adjustment?

(10 x 1 = 10 Marks)

P.T.0.



Answer any eight questions in not exceeding one paragraph each. Each question

SECTION - B

carries 2 marks.

11,
12
13,
14.
15
16.
17.
18.
19.
20.
21.

22,

List any four self generated assets.

What do you mean by long term capital assets?

What is section 80 C stands for?

State the rate of depreciation applicable for different categories of assets.
Wh.at is the rule for set off and carry forward of speculative losses?

What is the rule for indexing long term capital assets?

What is compaosite rent? How it is dealt with in income combutation?
Who is a fractional owner?

What do you mean by indirect tax? Give example

Who is a deemed assessee?

How will you co.mpute short term capital gain?

State any four gifts which are fully exempted from taxation.

(8 x 2 =16 Marks)

SECTION-C

Answer any six questions in not exceeding 120 words each. Each question carries
4 marks.

23. What are the incomes chargeable under the head profit and gain of business or

profession?

24 How will you calculate closing WDV of block of assets?
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25.

- 26.

27.

28.

29.

30.

What is the tax rule for set off and carry forward of loss from house property?

What are the specific deductions allowed under the head income from Other
Sources?

What is the taxability of Gifts without consideration and without adequate

consideration?
What are the exemptions allowed u/s 54 from capital gain?

The income of a family is given as

(a) Mr. Gopal from business Rs. §,50,000

(b) Mrs. Gopal income under the head salaries Rs 5,30,000

(c). Minor son of Mr. Gopal , Krishna as interest from debenture Rs. 10,000

(the amount for investment received from grandfather)
(d) Master Krishna from acting in a film Rs. 1,50,000
(e) Minor daughter of Mr. Gopal , Anjali Rs. 6000

Discuss in whose hand the incomes are assessable and compute the total -

income of Mr. Gopal.

Mr. Vinod Malhothra purchased a piece of land on 4-1-1998 for Rs. 50,000. This
land was sold by him on 2-9-2018 for Rs. 15,00,000. The market value of plant
as on 1-4-2001 was Rs. 1,00,000. Expenses on sale were 2% of transfer price.
Compute the taxable capital gain for the A.Y. 2019-20. The cost of inflation index
for 2018-19 to be 280.
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31. Mr. Raj has the following income for the prévious year 2017-18

Business profit

Short tefm capital gains

l:bng term capital gains.
Compensation fbr loss of agéncy

Long term capital loss

Compute the total income of Mr. Raj for the assessment year 2019-20.

Rs.
5,50,000

12,000

28,000
1,24,060

16,000

(6 x 4 = 24 Marks)

SECTION -D

Answer any two questions in not exceeding 4 pages each. Each question carries

15 marks. -

32. Mr. Gupta a cloth rﬁerchant furnishes you the following profit and loss account for

the year ending 31%' March 2019.

Rs.

Salaries and allowance 15,000
Rent and Taxes 4,000
Postage - 1,500
Domestic expenses : 2,000
Depreciation | | 5,000
Incﬁme tax o | 1,200
Donation 2,500
TDS on interest o 500 _

4

- Gross profit |

Dividend on shares-gross

Rent from buildings let out

Rs.
2,70,000
4,000
10,000

H - 1675



33.

Rs. ' : Rs.

Life insurance premium 2,000
Bad debt provision 1,800
Audit fee 1,500
Bad debt ' 2,500
Net profit 2,44 500

2,84,000 ' : 2,84,000
Other information: |
(@) Rentand taxes include Rs. 2,000 paid as Municipal Tax on let out building
(b) Value of life insurance pblicy is Rs. 18,000
(c) Donation was given to an approved institution
(d) Permissible depreciation was Rs. 4,000

Compute his business income and Gross Total Income for the Assessment
-Year 2019-20

Mr. Rahul's particulars of income for the previous year 2017-18 and 18-19 are
given as. ' :

Previous year

2017-18 2018-19

inRs. inRS.
Business profit before depreciation (~)35000 50,000
Current depreciation 25,000 30,000

Taxable income from house property 10,0060 30,000

Find out the total income Mr. Rahul for the A.Y. 2018-19 and 201 9-20.

5 3 H-1675




34,

35.

Mr. Pankaj furnishes you the following information. Compute his income from
other sources for the A.Y. 2019-20

(@) He took a house on the rent of Rs. 1,000 per month and let it out again for
Rs. 1,600 per month. Besides he received Rs. 5,000 rent from his
ownership building

(b} Dividend from an Indian Company (gross) Rs. 12,000

(c) Speculation business profit Rs. 6,000 and from cricket gambling Rs. 500

(d) Agriculture income in Nepal Rs. 10,000 was not brought in India. Rs. 18,000
income from agricultural land situated in Pune

(e) Salary as an MLA Rs. 30,000 and as daily allowance Rs. 4,000
(fy Share in HUF income Rs. 22,000
(g) Dividend received from a Co-operative society Rs. 6,000

Explain the various deductions allowed to salaried employees under Income
Tax Act. '

(2 x 15 = 30 Marks)
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Third Semester B.Com. Degree Examina-tio_n, October 2019
- Career Related First Degree Programme Under CBCSS
Group (2a)

Core Course [{]] | _
MANAGEMENT CONCEPTS AND THOUGHTS
(Common for CX 1341 / HM 1341/TT 1341)

| | o (2018 Admission)
Time:3 Hours  Max. Marks : 80
SECTION - A

Answer all questions in one or two sentences each. Each question carries
1 mark. - ' '

1. Define manégement._

2. What is stick and carrot in motivation?

3. What do you mean by need for affiliation?
' | 4, What are the cdmponents of direction?

5. Whatis grapevihe communication?

6. Whatis depaﬂmentation?

7. State any two policies of a business entity.

P.T.O.



8.

8.

10.

Suggest any two ways for bringing discipline in an organisation.
State two schools of thought under neo classical approach of management.
What is TQM stands for?

| (10 x 1 = 10 Marks)
SECTION — B o

Answer any eight questions in not exceeding one paragraph each. Each question
carries 2 marks. :

1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

What do you mean by knowledge management?

What. is Valence?

What is Kaizen?

State the four kinds of Ieade'rshi;; identified by Renfs Likert.
Wh.at'are the steps in controlling?

List any four.contrib.utions of ‘Bureaucratic Mode!' to mar{agement.
State the major functions of top level Management of an organisation.
State any four determinants of remuneration of personnel.
Suggest the ways for overcoming resistance.

Why co ordination is recognized as the essence of management?
State any four objectives of business management.

What are the roles played by a manager as a ‘decision maker’ in Mintzberg's
view? '

(8 x 2 = 16 Marks)
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SECTION-C

Answer any six questions in not exceeding 120 words. Each question carries
4 marks. :

23

24,

25.
26.

27.
28.
29.
30.

31.

‘Organizing function is performed through a series of steps Justi.fy the
statement’.

Describe the illumination experiment of Elton Mayo.

What are the features of a profess;on'? Examine whether management is a
profession? :

What is span of man'agement? What are the determinants of span of

management?

‘Directing ie the heart of management functions’. Describe.

What cto you mean by MBO? Explain the process of .MBO technique.

Explain the Leadership styles identified in the Grid Theory of Blake and Mueton.
What are the principles of TQM?

Explain how we can apply McClellands need for achievement theory to motivate
employees. :

. (6 x 4 = 24 Marks)
SECTION-D

Answer any two guestions in not exceeding 4 pages each. Each question carries
15 marks.

32.

33.

Examine the applicability of Taylor's Scientific Management School for enhancmg
productlwty

Define control and explain the different technlques of control made appllcable in
an orgamzatlon context.
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34.

35.

Explain the contributions of Frederic Herzberg and Abraham Maslow to-
management through their Motivation Theories.

Critically examine the modem management techniques for better business
performance. - '

(2 x 15 = 30 Marks)
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Third Semester B Ccrm Degree Exammatlon, October 2019 o
| Career Related First Degree Progremme under CBCSS )
Gfoup 2(a) Commeree and Tax Procedure And Practlee o

Vecational 00urse IV CX 1372 o
RECOVERY AND REFUND UF INCOME TAX £
(2018 Adnussron)

SECTION A

Aeswer all questlons Each questlon carnes 1 mark
| 1 | What do yeu mean by refund oftax‘? N
2 Expand PAYE B

3 __ What do you mean by TDS'?

4 the mterest from bank is iess than Rs 10 000 dunng the- prevneus year, wnl!.i_ |
T TDS apply ' : _ _ | o -

5 What is the rate of advanee tax payable by the assessee on or before 15"‘ June
'--'-oftheprevreusyear? o _ o

& Whatdo youmean byTAN’? o

7 3 What is the TDS rate m the case of winmngefrem iettery oF cmssword puzzle?

. PTO.



R

8 What is the rnterest rate pa’yabie by the assessee in the case .of default in e
T _'fUﬂ'HShtng rettlm of Income') o . | .

._ 9. -What do you mean by prevrous year’i.'.

| 10. .What is the TCS rate in the case of sale. of scrap?
‘ | _'_-"__"(r-o ‘1s mimjs, |
.‘ SECT!ON B o | |

o _'__-Answer any eight questlons Each questlon earnes 2 marks. Each answer not to "3
exceed1 paragraph o : - :

1. Lrstout any four payments covered by TDS scheme N
12, Wnte a note on mterest for deferment of advance tax.
13 Explam in. bnef tax recovery by suit.
14. Whois responsibte for. deducting TDS on dividends?
15 “Who is an assessee desmed to be in default‘.i_n__—the case of advance payment of |
16, What is ‘Form No. 16’ in Income:TaxAct? o o
'_17‘.“ Explain'iri brieftax recovery'bvga'mishee.order . _' o ._" .

18, What is. the trme of deposit of TDS if tax i rs collected by the ofﬁce of govemment
' and tax is acoompamed bymcome tax chaitan‘? |

18, What do you mean by deferment of advance tax? .
120, Mention the various mterest_ pa_yable_rto_ assessee




Y
. n,

21.

2.
. 26.

o1,

29

31,
~ pay advance tax and exempted from paying advance tax?

Who is respon3|ble for deductlng TDS on. lnterest other than mterest on.

o secuntles'? :

Answer any six questlons Each question carnes 4 marks ‘Each answer not to

‘What is the treatment for excess refund acc.ordi,n.g"'t_o Income Tax Act'?

© (8x2=16 Marks)

SECTION _C

exceed 120 words.

23,

24.

‘List out the ‘interests on securifies’ which are not subject to TDS.

‘Write a note on ,the inetalments of advance tax and due dates:

Discuss the procedure for the computation of advance tax m pursuance of order '
of Assessing: ofﬁcer

What are the provisions of the Income Tax Act regardmg deduction of tax at
source in respect of ‘Dividend’?

How to compute TDS on wmnlngs from lottenes and crossword puzzles’? How to

- compute TDS when the prize is given partly in cash and partly ini kind?

28.

30.

State the prov:smns of Income Tax Act relating to the collectlon of tax at source
during the sale of motor vehicles. :

What are the prowsmns relating to the payment of mterest by the assessee on -
account of default in furnishing retums of income? '

What are the procedures for claiming refund of tax already paid?

What do you mean by advance payment of tax’? Who are the persons liable to

(6 x 4 =24 Marks)
s .. . H-1676
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Third Semester B.Com. Degree Examination, January 2019
Career Related First Degree Programme Under CBCSS
Care Course — IV
CX 1342/HM 1342/TT 1342 : ADVANCED FINANCIAL ACCOUNTING
{Common for Commerce and Tax Procedure and Practice/Commerce
and Hotel Management and Catering/Commerce and Tourism and Travel
Management)

(2014 Admn. Onwards)
Time : 3 Hours Max. Marks : 80
SECTION - A
Answer all questions in one word to a maximum two sentences. Each question
carries 1 mark.
1. How gaining ratio is calculated ?

2. State the methods according to which Partner's capital accounts are
maintained. ’

What is dissolution of firm ?

Who will bear the deficiency when all partners become insolvent ?
What is scrip dividend ?

What is capital reserve ?

What is intrinsic value of shares ?

What is absorption ?

©w ©® N o ¢ b~ W

What are the methods of reorganization of capital ?

10. What is external reconstruction ? (10x1=10 Marks)

P.T.C.
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SECTION - B

Answer any eight questions not to exceed in one paragraph. Each question
carries 2 marks.

11.
12.
13.

14.
15.
16.
17.
18.
19.
20.
21.
22.

How is the balance of revaluation account dealt with ?
What is meant by partnership deed ?

List out any two circumstances under which a partnership is compulsority
dissolved.

What is Realisation account ?

What is security premium ?

What is calls in arrears ?

What is amalgamation in the nature of purchase ?

What is purchase consideration ?

What is ‘capital reduction account’ ?

What is meant by subdivision of shares ?

What are the purposes for admitting a new partner in a firm ?

What journal entry will you pass in the following situations :

a) Unrecorded asset of Rs. 15,000 is taken over by X, a partner on dissolution
of a firm.

b) Y, a partner paid the realisation expenses Rs. 10,000 on behalf of the
firm. (8x2=16 Marks)

SECTION-C

Answer any six questions not to exceed in 120 words. Each question carries
4 marks.

23. What is meant by ‘fluctuating capital method’ ?

24. What is divisible profit ?

25, Distinguish between purchase method and pooling of interest method.
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26
27

28.

29,

.. What are the objectives of internal reconstruction ?

. A, B, C had been in partnership for many years and shared profit and losses
in the ratio of 1:2:2. Their respective capital were :
A-T10,000 B-¥10,000 C-%2,000
The partners decided to dissolve the partnership following a falloff in
demand. On dissolution, there was a loss of T 15,000 to be shared
among the partners. C was insolvent and unable to contribute anything
towards his deficiency which had to be borne by his ¢o-partners.
You are required to prepare partners’ capital accounts to record the above
matters applying Garner Vs. Murray rule.

Given below are the Balance Sheets of X Ltd. and Y Ltd. as at 315t March 2015
at which date Y Ltd. was taken over by X Ltd.

X Ltd. Y Ltd. Particulars X Ltd. Y Ltd.

Equity share 5,00,00C0 10,00,000 Fixed assets 22,00,000 11,00,000
capital
(X10 each) Current assets  9,30,000 4,65,000
Reserves 22,50,000 4,00,000
12% debentures 2,20,000 1,10,000
Sundry creditors  1,60,000 55,000

31,30,000 15,65,000 31,30,000 15,65,000

How the purchase consideration will be settled if X Ltd. agrees to take over
only the fixed assets of Y Ltd. and to discharge the purchase consideration
by issuing equity shares of 310 each at a premium of X 45 per share.

Give journal entries for the following transactions in connection with internal
reconstruction.

a) 10,000 equity shares of T 10 each fully paid, reduced to shares of T 5
each fully paid.

b) 100, 8% debentures of ¥ 1,000 each converted into 500, 6% debentures
of T100 each.

c¢) The debit balance of profit and l0ss account ¥ 50,000 and the preliminary
expenses of 10,000 were written off.

d) The value of plant and machinery and stock were written-down by
T 20,000 and ¥ 10,000 respectively.
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30. On dissolution of the firm, the book value of assets were Rs,1,00,000. 50%
of the assets were taken over by a partner A, at a discount of 20%. Out
of the remaining assets. 40% were sold at a profit of 30% on cost and the
balance being obsolete realized nothing. Give journal entries to record the
realisation of assets.

31. Show the following items in the Balance Sheet of Nelson Ltd. as per revised
schedule VI as on March 31, 2018 :

Rs.
8% Debentures 10,00,000
Zquity share capital 50,00,000
Securities premium 20,000
Pretiminary expenses 40,000
Statement of Profit and Loss {(cr.} 1,50,000 (6x4=24 Marks)
SECTION-D

Answer any two questions in not exceeding four pages. Each question carries
15 marks.

32. P,Jand K are partners in a firm sharing profits and iosses in the ratio of 3:2:1.
They decided to dissolve the partnership business as on 315! December, 2017,
Following is the Balance sheet as on that date

Liabiiities Rs. Assets Rs.

Capitals Goodwill 6,000
P 20,000 Machinery 25,000
J 10,000 Furniture 3,000
K 2,000 Stock 10,000
Bank overdraft 6,000 Debtors 6,000

Sundry creditors 12,000

50,000 50,000
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The following assets were realized in cash :

Machinery Rs. 22,000, 50% of stock at Rs. 3,500, and Debtors were
coliected at 15% less than their book value. Goodwill could not realize any
value. Remaining 50% of stock was taken over by P at Rs. 3,200. Furniture
was taken over by J at Rs. 2,400. Realisation expenses were Rs. 300.
Prepare necessary ledger accounts to close the books of the firm.

33. The summerised Balance Sheets of A Ltd. and B Ltd. as on 1.1.2017 are

as under :
A Ltd. B.Ltd. A.Ltd. B.Ltd.
Equity share  2,00,000 1,00,000 Land and 2,50,000 1,60,000
capital (Rs.10) Buildings
12% Preference 1,00,000 - Stock 30,000 40,000
share capital Debtors 10,000 20,000
(Rs.10) Bank 70,000 45,000
9% preference - 1,00,000
share capital
(Rs.10)
Reserve 30,000 50,000
Profit and 20,000 10,000
108s account
Creditors 10,000 5,000
3,60,000 2,65,000 3,60,000 2,65,000

On the above date A Ltd. decided to absorb B Lid. under the following terms :
a) A Ltd. will take over all the assets and liabilities of B Ltd.

b) The equity shares of B Ltd. will be given 11,000 equity shares of Rs. 10
each.

¢} Preference shares of B Lid. will be converted into 7,500, 12 % Preference
shares of A Ltd.

Show necessary ledger accounts in the Books of B Lid. and pass journal
entries in the books of A Ltd.
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34. The following is the Trial balance of Adarsh Ltd. On 31-03-2015 '

Debit Balances 4 Credit Balances ¥
Stock 7,50,000 Share capital (40,000  40,00,000
equity shares of ¥100)

Purchases 18,50,000 12% debentures 30,00,000
Wages 9,79,800 Sales 41,50,000
Premises 30,72,000 P/La/c (31.3.2014) 2,62,500
Salaries 2,02,250 Sundry creditors 4,00,000
Plant 33,00,000 General Reserve 2,50,000
General expenses 68,350 Bills payable 3,70,000
interim Dividend Provision for bad debts 35,000
Paid 3,92,500 ason 1.4.2014
Goodwill 2,50,000
Debtors 8,70,000
Preliminary
expenses 50,000
Cash in hand
and at bank 4,068,500
Calls in arrear 75,000
Bad debts 21,100
Debenture interest
paid - 1,80,000

1,24,67,500 1,24,67,500

Adjustments :

a) Stock on 31-03-2015 was worth ¥ 9,50,000.

) Depreciate plant at 15%.

) Half year's debenture interest due.

d) Write off ¥ 5,000 from preliminary expenses.

) Create 5% provision on debtors for doubtful debts.
) Make provision for income tax @ 50%.

Prepare Trading a/c, profit and loss a/c for the year ended 31-03-2015
and the balance sheet as on that date in the prescribed form.
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35. The foliowing was the Balance Sheet of G Ltd. as at 315t March, 2015

Equity share capital : Goodwill - 1,00,000
1,20,000 equity shares of Machinery 5,08,500
Rs.10 each 12,00,000 Furniture 1,02,750
Less : Calls in arrear Stock 2,05,000
on 30,000 shares 90,000 11,10,000 Debtors 1,50,000
Sundry creditors 1,54,250 Bank 15,000
Provision for taxation 40,000 Preliminary 15,000
expenses
Profit and
Loss account 2,20,000
Less Profit 2,08,000
fortheyear 12,000
13,04,250 13,04,250

The tollowing scheme of reconstruction was approved .

a) Forieitthe share on which calls outstanding and re issue as fully paid share
of Rs.7 each at Rs. 5 per share.

b} Reduce the paid up capital by Rs. 3 per share.
¢) Write off machinery by Rs. 1,00,000.

d) Extinguish the deficiency in profit and toss account and write off goodwill
and preliminary expenses.

e) Utilize the provision for taxation, if necessary.

Draft necessary journal entries and draw company’s Balance sheet after
implementation of the scheme. (2x15=30 Marks)
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Third Semester B.Com. Degree Examination, October 2019

First Degree Programme under CBCSS

—_ Cpre Course

)
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ADVANCED FINANCIAL ACCOUNTING

| (Common for CO 1343/CC 1344 (2014 to 2017 |
Admission)/CO1342/CX1342/TT1342/HM1342/CC1343 (2018 Admission))

Time : 3 Hours _ ' | Max. Marks : 80
SECTION - A

Answer all questions in one word to maximum of two sentences. Each question
carries 1 mark.

What is meant by partnership deed?
-What is dissolution of firm?
What is consignment?
What is proforma invoice?
What is Joint Venture? :
Write a short note on Memorandum Joint Venture Account.
What are the main types of branches from accounting point of view?
What is ‘goods in transit’? _
. What are departmental accounts?
10. What is dual pricing?
| (10 x 1 = 10 Marks)

P.T.O.



SECTION-B

Answer any eight questions not to exceed one paragraph. Each question carries 2

marks, -

11.  Explain the circumstances under which a firm is dissolved.

12. Whatis meant by ‘fixed capital’ of partners?

13. Bring out two important decisions of Garner Vs. Murray.

- - ' ’\\
14. Whois cor_151gnee’?
15 Name the various methods of recording Joint Venture transactions.

16. Distinguish between joint venture and consighment."

17. What is meant by dependent Branch?

18. What is meant by ‘Branch Adjustment Account’?

19. What are inter departmental transfers?

20. List the bases for apportionment of common expenses in departmental accounts.

21. Invoice price of goods sent out is ¥.4,00,000. 4/5" of the goods were sold by
consignee at €.3,52,000. The rate of commission is 2% upto invoice value and
10% of any surplus above invoice value. Calculate the amount of commission.

22.

Calcuiate invoice price of Gaads sent to branch and profit included therein:

Goods sent to Branch (at cost) €.1,20,000
Goods are invoiced to the Branch at 25% above the cost.

(8 x 2 = 16 Marks) -
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SECTION —- C

Answer any six questions not to exceed in 120 words. Each question carries 4 |

marks.

23. What is realisation account? How and when i.s it prepared?.

24. Distinguish between consignment and sale.

’_;25; What are the objectives of Branch accounting?

26. What are the advantages of departmental accounting?

27. Pass necessary_ journal entries for the following transactions at the time of
dissolution of the firm :
(a) X, a pariner takes over an unrecorded asset .(type\.Nriter) at 3,000

* (b) Undistributed balance (debit) of Profit aed Loss account T30,000. The firm
has three partners X,¥ and Z

(c) The assets of the firm realised ¥1,25,000
(d) Creditors paid €28,000 in full settlement of their acoouni of 30,000.

28. Mr. X prevides the following information: N

(a) Goods sent by Mr. X to his agent Mr.Y-10,000 units @ 220 per unit.

(b) Mr. X's forwarding expenses f.S0,000;

(c) Agent took delivery and brought goods to hlS godown after incurring

expenses @ T 1 per unit.
(d) Goods sold by agent — 7,300 units @ % 30.
(e) Agents commission — 6% |

Calculate the amount of closing stock.

3 : H - 1569




29. X Itd. Provides you the following information:

Stock as on 1.4.2014 Purchases Sales
Dept. A 120 units 1,000 units 1,020 units @ £20.00
Dept. B 80 units 2,0’06 units 1,920 units @ ¥22.50
Dept.C 152 units 2,400 units - 2, 496 units @ £25.00

Total purchases for the period is ¥.1,00,000
The rate of gross profit is 20%, same for all the departments.
Prepare departmental trading account for the year 2014-1 5

30. Give journal entries in the books of Branch A to adjust the following

(a) Head office exp. 35,000 allocated to the Branch, but not recorded in

Branch Books

(b) Depreciation of branch asséts, whose accounts are kept by the Head office

not provided earlier for 25,000

(c) Branch paid ¥40,000 as salary to a H.O Inspector, but the amount paid has

been debited by the branch to salaries account.

(d) A remittance of 21,50,000 sent by the branch has not yet been received by

Head Office.

31. X and Y entered into a joint venture, agreeing to share profits and losses in the

ratio of their respective contributions. X and Y deposited 365,000 and

332,500

respectively into a joint bank account.. Goods bought for ¥75,000. Expenses
incurred %.10,950. Goods sold for €90,000. Goods taken over by X amounted to

¥2,700.

Prepare joint venture account and find out the profit.

(6 x 4 = 24 Marks)

H - 1569

L B




SECTION-D

Answer any two questions not exceeding four pages. Each questson carries 15
marks.

32,

33.

Write short notes on:

(a) .Treatment of normal and abnormal losses in consignmeht

(b) Recurring and non-recurring expenses relevant in consignment
(c) Delcredere and overriding commiesion in consignment

Jeevan and sons has two departments’ cloths and readymade clothes.
Readymade clothes are manufactured by the firm itself out of clothes supplied by
the cloth department at its usual selling rate. From the following figures prepare
Departmental Trading and Profit and Loss account and General Profi t and Loss
account for the year ending 31 December 2017.

Cloth Readymade

| ) (T.)
Opening stock on 1.1 .2017 - 3,60,000 60,000

Purchases | ~29,00,000 120,000
Sales - 35,00,000  7,00,000
Transfer to readymade cloth 4,50,000 -
department

Manufacturing expenses | — 1,40,000
Closing stock on 31.12.2017 11,00,000 48,000

General expenses incurred for both the department were ¥1,20,000. The stocks
in the readymade cloth department may be considered as consisting of 66 2/3%
cloth and 33 1/3% other expenses. The cloth department earned pl’Oflt at the rate

- of 18% in 2016.
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34. A De!hi merchant has a Branch at Chennai to which he charges out the goods at

cost plus 25%. The Chennai Branch keeps its own Sales ledger and transmits all
cash received to the Head Office every day. Al the expenses are paid from the

head Office. The transactions for the Branch were as follows.

Stock (1 .4.2007) at invoice price

Debtors (1 .4.2007) .

Petty cash

Cash sales

Credit sales

Goods sent to Branch at invoice price
Collection from Branch debtors

Goods returned to Head Office at invoice price
Bad debts

Allowances to customers

Returns 'inwards

Cheque sent to Branch:

Rent

VVages

Salaries

Stock (31.3.2008)

" Debtors (31.3.2008)

Petty cash (31.3.2008) including miscellaneous

Income not remitted

kS

11,000

100
100
2,650
23,950
20,000
21,000
300
300
250
500

- 600
200
900

13,000

2,000

125

Prepare Branch Trading and Profit and Loss account.
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35.

Ram and Lal shared profrts in the ratio of 2:3. Their Balance Sheet on March 31,
2016 was as folfows

Balance sheet

Liabilities ¥ ~ Assets F
Creditors 40,000 Cash 16,000
Lafs loan © 32,000 Debtors 80,000
- Profit and loss account 50,000 Less: Provision 3,600

| - - 76,400
Capital: | Inventory ' 1.09,600
Lal | 1,60,000 Bills receivable ' 40,000
Ram 240,000 Buildings 2,80,000

5,22,000 5,22,000 |

'Ram and Lal decided to dissolve the firm on the above date. Assets except bills

receivable realized ¥4,84,000. Creditors agreed to take ¥38,000. Cost of
realisation was ¥2,400. There was an unrecorded motor cycle in the firm and it
was sold for ¥10,000. There was a contingent liability of 5,000 in respect of

- .QuiSiading electricity bill. Ram took bills receivable at T33,000.

ﬁﬁ

(2 x 15 = 30 Marks)

Prepare necessary accounts to close the books of the firm.
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Thlrcl SemeSter B Com Degree Exammataon October 201 9

- Camer Related First Degree Programme Under chss
- - Core Course IV - CX 1342/ HM. 1342:111342 .
- ~ ADVANCED FINANCIAL Accoummo )
(2014 Admnss:on 2017 Admlssmn) |
Tnme 3Hours I T Max Marks 80.___

(Common ior Gommerce and Tax Procedure and Praotlce/ Commerce and Hotel
Management and Catering/ Commeroe and Tounsm and Travel Management)

| '_SECT_ION ~A

B Answer all'.queStion's' Each q:;estioh*carﬁes 1 mark. £

A What isa Reallsatlon acoount""

2. What you mean by Dlssoiutlon of Partnersh:p‘? o
3. . What isa revaiuatkon acoount))

4 What'l_s capltal _res_e_rve? o

- s Deﬁne.N_'et'wofgh. |

6. . beﬁne'pé_r_t'rf;ership}_' |

7. “What do youmean byfluctuating capital?.

. PRTO..



8 WhOisahqmdawr” .'-_ ISR,

5. Whatis ‘ama_lgamat_ioﬁ?' o

10 Wh_at__ie.ittterﬁat.r'e.t.zoti_:'str_aotion?: | | |
o it omane)

"'._'Answer any elgtlt ouestlons Eaeh questton camesZmarks - . ‘. o -

| 3._11.._" foferentlate dlssotutton of ;annershtp and dlssotut:on of ﬁrm. - . "5

_.'1'2. ' What do you mean by plecemeal dtstnbutlon'?

13 Whatlsmtenm dwndend? T

B | 14. -'--What lea memorandum revaluatnon aocoant?
1 5 What is meant by a pleoemeat dlstnbution’?
- 16. Exptam the treatment ofgoodwﬂl on Dlssolutlon of F:rm |

17, Explain Garner Vs Murray Dec:smn

_ '18.'.' State the dlﬂ‘erent modes of Dtssolutlon ot‘ ﬁrm _

19, '- State any two- ctrcumstanoes under whtch the need for valuataon of goodwnll |
. anses in case of company _ _ _

. 20, ¢ Dlstmgu;sh between extemat reconstructlon and mtemal reconstruct:on

S DlSCUSS the main factors aﬁectlng the value of goodwm of. a joint stock company

22.. 'What are the c:rcumstances m whmh there may be a need for vatuatlon of shares._' |
..ofajomtstockcompany‘? S .

e __;_(8' x2= 16Marks) N



SECTION-C

Answer any six questions. Each question carries 4 marks.

23.
24,
25.
26.

27.

Briefly describe the methods of accounting for amalgamation.
What are inter company owings? | | '
What is amalgamation? How it _differs from absorptidn?

A, BandC are in partnership sharing proﬂté and losses in the ratio of 5:3:2. They
decide to dissolve their partnershlp and the balance sheet at the date of
dissolution is as follows:

Liabilittes | Rs. | Assets | | Rs.
Sundry Creditors|  6,000|Freehold Property | 52,000
Bills Payable 3,000/ Plant | 30,000

|Bank Overdraft 1,500{Stock in trade 40,000
Reserve Fund * |  5,000|Furniture 5,000
Capital A 53,500 Sundry Debtors 17,500

‘ Capit'al B 44,100 Less:_ Provision for ba;j debts- 500| 17,‘000
Capital C 39,400{Cash in hand | | 8.500|
| 152500 1,562,500

A is to take the freehold property at Rs. 35,000/- B is to take the stock in trade at-
" Rs. 35,000/- and C is to take furniture at Rs.3,000/-, Sundry debtors realised
Rs.16,000/- and Plant realized Rs.40,000/-. Cost of dissolution was Rs.2,000/-,

Close the books of the firm showing the. Real;satzon Account, Capital accounts

~and Cash account.

On 31% March 2017, Thin Ltd, was absorbed by Thick Ltd, the later taking over

- all the assets of the former at book values. The consideration for the books was

fixed at.Rs. 4,00,000 to be discharged by the transferee company in the form of
its fully paid equity shares of Rs.10 each, to be distributed among the
shareholders of the transferee company, each shareholder getting two shares for
every share held in the transferor company. The balance sheets of these two
companies as on 31% March 2017 stood as under:
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Thick Ltd

Assets

Liabilities Thin Ltd Thick Ltd | Thin Ltd
(Rs) (Rs) (Rs) | (Rs)
Share Capital: 15,00,000 |5,00,000|Goodwill 2,00,000 60,000
Authorised _ - ' _ ‘
Issued and subscribed: 9,00,000 {2,00,000{Plant and 4,12,000 1.00,000
Equity shares of Rs.10 - |machinery
each fully paid _ _ _
General Reserve - 1,80,000] 50,000/ Furniture 80,000{ 30,000
Profit and Loss Account 20,502 12,900|Stock in 2,65,000| 60,000
trade '
Workmen’s 12,000{ 9,000|Sundry 1 2,21,200| 46,000
compensation fund B Debtors ~
Sundry creditors 58,567! 30,456|Prepaid 700
insurance
State provident fund 10,200 4,000{Income tax 6,000
refund claim
Provision for taxation | 12,300] . 5,000|{Cash in hand 869 356
] ' . |Cash atbank| 15,14,500]5,08,300
26,93,569(8,11,356 | 2693569811356_

Amalgamatlon expenses amounting to Rs. 1000 were paid by Thick Ltd You are
required to: .

Prepare reali_saticjn account and equity shareholders account in the books of.
Thin Ltd and

A, B and C were Partners sharing profits and losses equally. Their balance sheet

(i)

(ii

Prepare the balance sheet of Thick Ltd after amalgamatlon in the nature
merger.

28.
after the preparation of Realrsatlon Account on dissolution of the firm was as
follows: :
Liabilities Amount Assets |Amount
| (Rs) | (Rs) (Rs)
Capitals _ Cash 8,000
A 12,000 |C’s Capital [6,000
8 8,000 __|Realisation]6,000
20,000 | 20,000

Cis insol\?ént and his private estate pays only Rs.5,000/- of the amount due to
the firm. Close capital accounts of partners if Partnership Deed states that the
loss due to insolvency should be shared in the profit sharing ratio.
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29.. The following are the Balance sheet of H Ltd and S Ltd as at 31® March 2017

Liabilities Hitd SLltd * Assets Hitd SLtd
, (Rs) (Rs) - (Rs) (Rs)

Share capital ~ Sundry assets 5,70,000 2,60,000
~ shares of Rs.10 each ~ 5,00,000 2,00,000 '

fully paid _ .
- Reserves 15 00 000 60,000 60% shares inSLid 1,10,000
o . | (at cost)

Creditors . 80,000

Total : 6,80,000 2,60,000 ' "~ 6,80,000 2,60,000

Prepare a consolidated Balance. sheet as at 31% March 2017.

30. What is purchase consuderatlon‘? What are the methods for determmmg purchase
consideration?. :

31. Discuss the main factors affectlng the value of goodwull ofa jomt stock company.

- (6 x 4 = 24 Marks)
SECTION - D - -
Answer any two questlons Each question carries 15 marks.

32. M/s X and Co. is a partnership firm with the partners A, B and C sharing Profits
and Losses in the ratio of 3 : 2 . 5. The Balance Sheet of the firn as on 30 June
2001 was as under: ' Lo

Balance Sheet of X and Co. as on 30.06.2017

Liabilities Amount (Rs) |Assets - | Amount (Rs)
A’s Capital Account  |1,04,000 |Land ~_11,00,000
B’s Capital Account 176,000 Building 2,00,000
C's Capital Account  [1,40,000  [Plant and Machinéry 3,80,000
LongtermLoan  |4,00,000 Investments 22,000
Bank overdraft 44000  |Stock - 1,16,000
Trade Creditors 1,93,000 Sundry Debtors __ |1,39,000

| 9,57,000 . 9,57,000

It was mutually agreed that B will retire from partnérship and in his place D will be
admitted as a partner with effect from 1 July, 2017. For this purpose, the
following adjustments are to be made
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(a) Goodwill-of the firm is to be valued at Rs. 2 takh due to the firm’s locational
advantage but the same wnl not appear as an asset in the books of the
reconstltuted F rm. ' :

(b) Buutdmgs and Plant and Machmery are to be valued at 90% and 85% of the
respective Balance Sheet values. Investments are to be taken over by the

retiring partner at Rs. 25,000. Sundry Debtors are considered good only'
90% of Balance Sheet figure. Balance to be considered Bad. .

(c) ln the reconstituted ﬁrm, t_he total Capital will be Rs. 3 iakh, which will be
contributed by A, C and D in their new profit sharing ratio, which is 3:4 : 3.

'(d) | The surﬁias funds if any, will be used for i*epaying bank overdraft. A
(e) The amount due to retlnng partner shail be transferred to h|s Loan Account.
- You are requ:red to prepare |
| (i) _Revaluatnon’Aecount
.(ii) Partners’ Capital Accounts .
(iii) Bank Account and

(iv) Balance Sheet of the reconstituted firm as on 1% July, 2017.

33. ABC and D were in a firm- sharmg profits and Iosses in the ratio of 4:3:2:1. The N
posutlon on30th June 2017 was as follows:.

Liabilities Amount (Rs) Assets | Amount (Rs)

| Capital ~ | Sundry assets 32,000

A 7,000 | P and L account | 15,000 |

B - 8,000 | B's Drawings | 4,000

cC | - 4,000 ; D's Drawing 1,000

D 3,000 | -
Creditors| 30,000 . L

52000] . . 52,000




il They demded_ o dissolve the firm. The assets_reaased Rs. 27,000, A & B are.

R . B's private assets. amounted-to Rs. 10,000 and kis private liabiliies K
Rs. 7, 009 ﬂ-;s:ﬁﬁﬁate assets are Rs. 7, Dm:;--and-pﬁvaie itabtlmes Rs. 1,000. Close

- the books-of the firm assutmng thaf Bs pnvate estate reahses Rs 400ﬂ and; E : "
D‘sestataareahsesRs 5000 e

. _-Descnbe the steps mmnstruchon

. . Descnbe the methods Of ca!culatmg purchase cons:deratuon _. o _' T

(z x 15 =3o Marks)'_ o



o Thlrd Semester B Com Degree Exammatlon October 2019
Career Related First Degree Programme Under CBCSS

2(b) - Commerce with Computer Appllcatlon
Complementary Course III CC 13-31 _
| PRINCIPLES AND PRACTICE OF lNSURANCE

(2014 Adm - 2017 Admlssmn)

. Time:3Hows . MaxMarks:80

PART-A .
'Answer all questions. Each question carries 1 mark. -

-What s claim?
. What.is. bonus'?
In which year lnsurance Act came into existence?
‘What i IS meant by msurance pollcy’-’
‘What i is assurance'P '
. Whoisa policy holder? _ .
'Write any two endowmerit_aesuranoe plans.

 WhatisULIP?

Wnte any two mediclaim pohcnes
: What is cattle lnsuranoe'? '

R- B JURY- T S U SR

R
-

(40 x 1 = 10 Marks)

" PTO.
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M.
12,
13,
14,
1.
17.
18.
19
0
o1
22.

Answer any six questions. Each gquestion ca‘rrie_s 4 marks. o | | | o o | i
23.
24,

25:
- contract

26.

~ What is meant by burglary insurance? - | s

‘What .d_e you mean by voyage policy? |

_What is engmeenng msurance" s
~Wirite.a note on over insurance.
What is NSP?

Who are third party administrators?

‘What are the fUhcti(_)ns of insurance?.

~ (a) Wagering policy

- (b). opencover policy

- PART-B

Answef any_ eight queetions, Each question carries 2 mark_s.

What is double 'insLIrance‘? .
What do yeu mean by surrender of pohcy’?

What is the rore of actuarles in I|fe insurance busmess’?

Write any'_',t_wo features of life insurance.

‘What aréf the'- two type's of assighment?“- '

What is mean.t_.by proportional re-insurance? L
| © (8 x 2 =16 Marks)
PART-C | -

Write short notes on’

Define ﬂre tnsurance contract Elumdate the characterlstlcs of a fire msurance .

Explam the prmcnple of Causa Proxnma _ |
2 I H-1699




" 27. What are the principles of marine insurance? . |
28. Expléin alteration bf an ins‘urance policy

29. Define health |‘nsurance What are the dlfferent types of health insurance
~ schemes? _

30, Distinguish betw_i_veen reinsurance and double insurance.
31, What are the functions of IRDA?

 (6x4=24Marks)

oo

: ’Answ_er any Mo q_u.estio'r'as'..' Each questfon_ carﬁés 15 marks.
'32.' ‘What are the d-ifferént. types of ﬁr-e -iﬁsurance poliéies_?_ ' )
33, Explaiﬁ-claim settlement procedure in Iifé insurance contract. “
34. Discuss the role_:df insdr_ance in the grow_th o_f-the:eoohomy. |
-35. B_riéﬂy e)fplain different:type_s of'insuran'ce.pol_iciés. | N |

(2 x 15 =30 Marks)
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Third Semester B.Com. Degree Exammatlon October 2019

First Degree Programme Under CBCSS
Complementary Course 11
E - BUSINESS
(Common for CO 1331/0c 1331/HM 1331/CX 1331)

- (2018 Admn.)
Time : 3 Hours _ S _ - Max. Marks : 8¢

SECTION - A
Answer all questions, in one word to two sentences. Each question carries 1 mark

1. Write a short note on e- -tailing.

é. | List out the names of three e—paym.ent method. |
3. Differentiate E-commerce and E-business.

4. Define Wwwy

5. Define an’e-citizen.

6. Write a note on Electronic fund transfer.

7. Name two Popular internet browser.

8" What do you mean by digital delivery of products? -

PT.O.




4
~

7\9‘

L

Write the name of any two e-commerce sites in India.

Write a short note on Internet marketing.

(10 x 1 = 10 Marks) .
SECTION-B »

~ Answer any eight q'ueétions, not exceeding one paragraph. Each question carries

2 marks.

11. Explain the term ‘é-marketing’.

12. What is e-learning?

13. Describe the term B2B.

14. Explain the uses of ICT.

15 List out any two possible drawbacks of E-Commerce.

16. What role does SCM play in Businéss to Business model e-commerce?

| 17.
N 18.
19.
20.
21.
22,

Wfite a short note on e-governance.

What are the features of E-commerce?

Expiain-the advéntages to society because of e-commerce?
Explain e-auction. |
How is email useful for e-commerce?

What is Electronic Filing?

| | (8 x 2 = 16 Marks)
SECTION - C o

Answer any six questions, not exceeding 120 words. Each questions carries 4 marks.

23.

24.

‘What are the advantages of E-commerce?

What are the different types of E-market place?

2 | H - 1573




- 25.
26.
27,
28.

29.

30.

“CRM helps to improve the business relationship with customers”. Comment.
Write about different advertisement strategies online.

Discuss in detail about the security issues connected to electronic cash
transferred over internet? '

Compare and contrast the traditional business and e business in a book business
Explain different steps in creating an ecommerce web site.

Write in detail how tourism industry can gain advantage using €COMMErCe
websites? '

Write note on the any of the successful Kerala e-governance initiative.

(6 x 4 = 24 Marks)

SECTION-D
Answer any two guestions, rot exceeding four pages. Fach questions carries
15 marks.

32.

33.
34.

35.

What is ERP? Explain and illustrate the advantages of ERP system with the help
of an example. :

What are the major e-business models?
Explain any four applications of e-commerce in detail.

What do you mean by E-governance? Explain various types of E governance
Model. :

(2 x 15 = 30 Marks)
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Third Semester B.Com. Degree Examination, January 2019
Career Related First Degree Programme under CBCSS
2(a) : Commerce and Tax Procedure and Practice
Vocational Course IV : CX 1372
INCOME TAX LAW AND ACCOUNTS — li
(2013 Adm. Onwards)

Time : 3 Hours Max. Marks : 80
SECTION ~ A

Answer all guestions in one word to maximum two sentences. Each guestion
carries 1 mark.

. What is the rate of income tax on LTCG ?

—

Whagt is Section 80G 7

P

3. For how many years loss on speculation can be carried forward ?
4. With whose income the income of ine minor child is ciubbed ?

. What is the year of income Tax Act ?

. Profit arising from the sale of a depreciable asset is calied

. Whatis meant by TDS 7

5
6
7
8. Whatis PAN 7
3. Whatis GT! ?
0

. Mrs. Rani received a family pension of 50,000 rupees. How much is taxable 7
{(10x1=10 Marks)

SECTION - B
Answer any eight guestions in one paragraph. Each question carries 2 marks.
11. What is benami transaction ?

12. How will you treat dividend received 7
P.T.O.
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13. Define capital asset. Give examples of capital assets.
14. Explain indexation in connection with capital gains.

15. What is the treatment of capital gain when there 1s a compulsory acquisition of
an asset ?

16. Give any four cases in which the indexation of cost is not to be done while
calculating long term capital gain.

17. Why income from other source is called residuary head of income ?

18. What is the deduction avaifable under Section 80E and for what 7

19. Explain rebate of tax.

20. Explain cost tc previous owner.

21. What you mean by set off of losses 7

22. What is the rate of tax on STCG ? (8x2=16 Marks)
SECTION - C

Answer any six questions. Answer not to exceed 120 words. Each question carries
4 marks.

23. What are the various deductions avaiiable from income from other sources ?
24. What you mean by tax free non government securities ?

25 What is tax treatment of sale of shares, bonus shares and right shares ?

26. What is transfer of capital assets ?

27. Write a note on rounding of income and rounding of tax.

28. What deductions are admissible to an individual for making certain payments ?

29. What are the conditions for claiming exemptions of capital gain on transfer of
agricultural lands situated in urban area ?
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30. Mr. X owns a residential house at Mysore, from the following information,

31.

compute the amount of capital gain :

Cost of construction {1988-89) : 400,000
Cost of additions {1997-28) : 200,000
Sale consideration (10-10-2014} : 40,25,000
Expense on transfer ; 20,000

Cost of new house purchased in Chennai (on 15-1-2015) : 500,600 {house is
half finished)

Amount deposited in capital gain deposit scheme : 300,000.
(Cil 88-83 : 161, 94-95 . 259, 97-98 . 331, 2014-15 ; 1024)

Mr. X received the following gifts during the previous year :

a) He received a gift in cash of Rs. 20,000 from his uncle on 30-6-2014.

b) He received a cheque of Rs. 30,000 as a gift from his brother on 10-11-2014.
c) He received a gift of 21,000 on his wedding from Mr. Y on 1-12-2014.

d) He received Rs. 25,000 as gift from his non-resident friend Mr. B on
30-12-2014.

e} He received a gift of Rs. 51,000 from his brother in l[aw on 31-1-2015.
) He received Rs. 5,000 from Mr. C, his resident friend on 15-2-2015.
Calculate taxable gift chargeable under head other source. {6x4=24 Marks)

SECTION-D

Answer any 2 questions in not exceeding four pages. Each question carries
15 marks.

32. Mr. Bwho is resident of India furnished the following particulars of his investments

VI

for the previous year ended 315! March, 2015,
[} 5000 units of mutual fund (gross income Rs. 1,200).

I} Rs. 30,000 in Post Office Savings Bank Account which earns interest
@ 4% p.a.

lil) Rs. 45,000 in Fixed Deposit A/c with SBI on which interest 9% is payable.
V) 12% Rs. 40,000 debentures (listed) of tea company.
V) Rs. 2,000 interest received on National Development Bonds.
V1) Rs. 1,000 interest received on the debentures of a co-operative society.
)

10% State Electricity Board Bonds Rs. 20,000.
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VIH) Rs. 10,000 in 7 year post office NSC interest @ 7% p.a. is payable on the

34.
35.

same gvery year,

iX) Rs. 36,000, 10% tax free debentures of Agra Muncipal Corporation. Interest

being payable on 315! December.

X} Rs. 900 received by an account payee cheque as interest on debentures
{listed) of a company in which public are substantially interested.
He collected the entire amount himseif and claimed Rs. 200 as his own fees
for collection of interest,

X1 Interest on Post Office NSC VI issue Rs. 5,000.

Calculate the taxable income under the head “income from other source”.

. Mr. G had purchased a house in 1978 at a cost of Rs. 80,000, He spent

Rs. 10,000 on the house for its improvement in 197S. He constructed first
floor at a cost of Rs. 4,080,600 in Juty 20C0. He spent Rs. 2.00,000 for making
improvement to the house in August 2009. He sold the house in March 2015
for Rs. §2,00,000 and purchased a new house in May 2015 for Rs. 20,00,000
and deposited Re. 17,00,000 in capitat gain account scheme.

Compute his capital gain assuming that the Fair Market Vatue of the house as
on 1-4-1881 was 1,10,000.

Cost inflation index : 2000-01 - 408, 20098-10 - 632, 2014-15 - 1024,

Describe exempted income for employees.

Mr. X has the following investments in the previous year ended 315 March 2015 ;

Rs. 35,800, 10% Karnataka State Govt. loan.

Rs. 30,000, 13.5% listed debentures of KMT Ltd.

Rs. 35,000, 11% securities of Sugar Mill Company (not listed).

Rs. 32,000, 10% tax free commercial securities (listed).

Rs. 1,100 received as interest on Tamil Nadu Govt. securities.

Rs. 3,60C received as interest on the securities of a paper mill company (not kisted).
Rs. 4,500 received as interest on securities of Textite Company (listed).

Interest on alf securities is payable on 301" June and 315! December. The bank
charged 1.5% commission. net realization of interest as collection charges.

He was also a director in a company from which he received Rs. 3,000 as
Director's fees.

His other incomes are : Winnings from lottery Rs. 25,000, Income from agriculture
in Sri Lanka Rs. 10,000, Winnings from horse race Rs. 15,000, Interest on Post
Office Savings Bank A/c Rs. 2,000.

Find out his taxable income from other sources. (2x15=30 Marks)




